Christmas Valley East (no doedm 12

N.Sky

O =0 =

D]

CPID

0.8

0.6

0.4

0.2

Gate
N N ERE RS R

0.0

1.0

0.8

0.6
)

0.4

0.2

Gat:
I N N R A

0.0

o
o

0.4
Time UT

Christmas Valley West (no dddegm 12

0.6 0.8 1.

o

N.Sky

O -0 =

D]

CPID

0.8

0.6

0.4

0.2

Gate
N N ERE RS R

0.0

1.0

0.8

0.6
)

0.4

0.2

Gat:
I N N R A

0.0

o
o

0.4
Time UT

0.6 0.8 1.

o

—_
E
=
°
-3
H
[
€
o
»

Slant Range [km]

Fort Hays West (fitacf3) Beam 11 04/Dec/2023
105 I, T - - — E 105
100 E 100
18 F 60
8 s | I - P - E 0

normal (fast) 151 IF

4000 - {

N W
g 8
N

1000 =

00:00 04:00

08:00

Fort Hays East (fitacf3)

12:00
Time UT

Beam 11

16:00

105 N

100 4

18

normal (fast) 151 IF

1]
()

4000 -

N W
g 8
N

1000 =

12:00
Time UT

16:00

20:00 00:00

o
elocity [m s7']

1
o
S

Ve

o
elocity [m s7']

1
o
S

Ve
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Hokkaido East (fitacf3) Beam 07 04/Dec/2023
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